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IMPORTANT READ:

1. It is your responsibility to manage time and content effectively. Never complain of a long paper, as it shows the person’s lack of clarity, practice and managing skills.

2. Should not ask any doubts whatsoever, with respect to the Question paper in the hall. The Questions are meticulously verified so there is no chance of ambiguity.Only that you need to read the Questions with open mindedness and focus.

3. Coding standards, naming conventions and appropriate comments has weightage.
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1. Is Java really platform independent? Is there is any hidden secret? Justify in well framed precise points.

Ans: Java is platform independent because it can run on any platform (i.e) on windows, mac etc., because it contains its own virtual machine which have JRE which runs java program as byte code. It may have different JRE for different platforms and once installed, it can run any java application on it. 
2. We have two monkeys, monka and monkb, and the parameters aSmile and bSmile indicate if each is smiling. We are in trouble if they are both smiling or if neither of them is smiling. Return true if we are in trouble.   
monkeyTrouble(true, true) → true
monkeyTrouble(false, false) → true
monkeyTrouble(true, false) → false
Write a full java program to demonstrate the same.

Ans:
import java.io.*;

class smile{

public static void main(String args[])

{

 boolean aSmile=true,bSmile=true;

 boolean a;

 a=monkeyTrouble(aSmile,bSmile);

 if(a==true)

 System.out.println("We are in trouble");

 else

 System.out.println("Okay");

 }

 public static boolean monkeyTrouble( boolean aSmile, boolean bSmile )

 {

  return !( aSmile || bSmile ) || ( aSmile && bSmile );

  }

  }

3. Write a full java program to split the given sentence with delimiters space.“SRM University is located at Chennai”

          ANS:
          public class splitsentence{

          public static void main(String args[]){

          String s1="SRM University is located at Chennai";

          String[] words=s1.split("\\s");//splits the string based on string

          //using java foreach loop to print elements of string array

          for(String w:words){

          System.out.println(w);}}}
OUTPUT:
SRM 

University 

is 

located

 at 

Chennai 

4. What is the output of the following Program:

ANS: 

class ByteShift1 {

void StringDisplay(){

int ascii[]={65,66,66,68};

String s1=new String(ascii,1,3);

System.out.println(s1); }

public static void main(String args[]){

ByteShift1 ob1=new ByteShift1();

 ob1.StringDisplay();} }

            OUTPUT: BBD

5. Tabulate the primitive data types and their size in java.
ANS:

	Data Type
	Default Value
	Default size

	boolean
	false
	1 bit

	char
	'\u0000'
	2 byte

	byte
	0
	1 byte

	short
	0
	2 byte

	int
	0
	4 byte

	long
	0L
	8 byte

	float
	0.0f
	4 byte

	double
	0.0d
	8 byte


6. Write a full java program which uses BufferReader class for input processing, but you are expected to provide input from keyboard. Hint: use appropriate byte to character convertor class.
ANS:

            class BufferedReaderCharDemo

            {

             public static void main(String args[]) throws IOException
             {

             char c;

             BufferedReader br = new

             BufferedReader(new InputStreamReader(System.in));

             System.out.println("Enter characters, press 'q' to quit.");

             do

            {

             c = (char) br.read();

             System.out.println(c);

             } while(c != 'q');

             }

             }
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7.a  A painting company has determined that for every 115 square feet of wall space, one litre of paint and eight hours of labor will be required. The company charges Rs.80.00 per hour for labor. Write a program that allows the user to enter the number of rooms to be painted and the price of the paint per litre. It should also ask for the square feet of wall space in each room. The program should have methods that return the following data:

• Number of litres of paint required

•  Hours of labor required

•  Cost of the paint
•  Labor charges

•  Total cost of the paint job

And your program should also display all the data on the screen.

ANS:
import java.util.*;

import java.lang.*;

import java.io.*;

class splitsentence {

 public static void main(string[] args) {

 int room,price,sfeet;

 int paintr,labor,cost,chargel,tcost;

 scanner input = new scanner(system.in);

 system.out.println("enter number of room");

 room = input.nextint();

 system.out.println("price");

 price = input.nextint();

 system.out.println("enter sfeet");

 sfeet = input.nextint();

 system.out.println(room+" "+price+" "+sfeet); 

 paintr=lrneed(sfeet);

system.out.println("needed  "+paintr);

labor=hour(sfeet);

system.out.println(“labour hours  ”+labor);

chargel=money(labor);

system.out.println(“labor charge”+ chargel);

cost= color(paintr,price);

system.out.println(“paint cost”+ cost);

tcost= amount(cost,chargel);

system.out.println(“required amount”+ tcost);

}

 public static int lrneed(int sfeet)

 {

  int l, lr;

  l=sfeet/115;

  lr=(int)l;

  return lr;

 }

public static int hour(int sfeet)

{

 int h;

h=(sfeet/115)*8;

return h;

}

public static int money(int labor)

{

int c;

c=labor*80;

return c;

}

public static int color(int paintr,int price)

{

int p;

p=paintr*price;

return p;

}

public static int amount(int cost, int chargel)

{

int a;

a= cost+chargel;

return a;

}

(OR)

7.b Write a single program using switch with stringsto perform the given tasks based on user’s wish. (i) break with label (ii) break with continue
ANS:

public class BreakContinueWithLabel {
public static void main(String args[]) {
 int[] numbers= new int[]{100,18,21,30};
OUTER:         

 for(int i= 0; i<numbers.length; i++){
 if(i % 2 == 0){
 System.out.println("Odd number: " + i + ", continue from OUTER label");
 continue OUTER;
 }
 INNER:
 for(int j= 0; j<numbers.length; j++){
 System.out.println("Even number: " + i + ", break  from INNER label");
 break INNER;

}}}}
   
Output:
Oddnumber: 0, continue fromOUTERlabel
Evennumber: 1, break  fromINNERlabel
Oddnumber: 2, continue fromOUTERlabel
Evennumber: 3, break  fromINNERlabel


8.a Demonstrate a Name Search program with two files:

• GirlNames.txt– This file contains a list of the 200 most popular names 
• BoyNames.txt– This file contains a list of the 200 most popular names 

Write a program that reads the contents of the two files into two separate arrays.The user should be able to enter a boy’s name, a girl’s name, or both, andthe application will display messages indicating whether the names were among themost popular.

(OR)

8.b Write a Program to demonstrate access specification and do provide tabulation to depict accessibility across classes and packages.
ANS:

class Employee{

  public String employeeName;

  String address;

  protected int age;

  private double salary;

  void setSalary(double sal){

    salary = sal;

  }

  private double getSalary(){

    return salary;

  }

  void showDetails(){

    System.out.println("Employee's Name: "+employeeName);

    System.out.println("Employee's Address: "+address);

    System.out.println("Employee's Age: "+age);

    System.out.println("Employee's Salary: "+salary); //1

    System.out.println("Employee's salary: "+getSalary()); //2

  }

}

class AccessSpecifierDemo2{

  public static void main(String args[]){

    Employee employee = new Employee();

    employee.employeeName = "Ronaldo";

    employee.address = "Portugal";

    employee.age = 29;

    //employee.salary = 65034.00;

    employee.setSalary(65304.00);

    //System.out.println("Employee's salary: "+employee.getSalary());

    employee.showDetails();

  }

}
	Access Modifier
	within class
	within package
	outside package by subclass only
	outside package

	Private
	Y
	N
	N
	N

	Default
	Y
	Y
	N
	N

	Protected
	Y
	Y
	Y
	N

	Public
	Y
	Y
	Y
	Y
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7. What is the difference between JRE, JDK, JVM and JIT and draw a flow diagram to indicate their role in compiling and executing a java code?
8. What is the value of each of the following Boolean expressions if x is 5, y is 10, and z is 15?Note: Program not needed. Write each step clearly indicating the operator precedence and associativity when solving the expression.
a. (x < 5 && y > x)

b. (x > 3 || y < 10 && z == 15)

9. Consider the following string:
"cookies>milk>fudge:cake:ice cream"

Write a full java code that can be used to extract the following tokens from the above given string: cookies, milk, fudge, cake, and ice cream. 

10. Identify with respect to below code which of them will be stored in heap and stack?

class Abc{ 

int c=100; void secondMethod(){int b;};

}

public class Stack_Heap{

void firstMethod(){ int a;} 

void thirdMethod(){

Abc ref2=new Abc();

System.out.println(ref2.c);} 

public static void main(String args[]){ 

Stack_Heap ref=new Stack_Heap();

ref.firstMethod(); 

ref.thirdMethod(); 

Abc ref1=new Abc();

ref1.secondMethod();

}}
11. Write a full java program to demonstrate scope of a variable.
12. Write a full java program to write ascii value 65 in to a file “output.txt” and what you will see if you open the output.txt file after execution.
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7.a Make a LandTract class that asks the user to enter the dimensions for two tracts of land. The program should utilize the below given classes and display the area of each tract of land and indicate whether the tracts are of equal size. 

[image: image1.emf]
(OR)

7.b. Design a TestScores class that has fields to hold three test scores. The class should have a constructor, getter and setter methods for the test score fields, and a method that returns the average of the test scores. Demonstrate the class by writing a separate classUseTestScoreswhich has main() that creates an instance of the TestScores class. And your program should ask the user to enter three test scores, which will be stored in the TestScores object. Then the program should display the average of the scores, as reported by the TestScoresobject.
8.aWrite a full Java program with class GC1 which shows garbage collector in action and that the finalize () method of object GC1 runs without being specifically called and that the id's of garbage collected objects are not always sequential.
(OR)

8.bMany companies use telephone numbers like 555-GET-FOOD so the number is easier fortheir customers to remember. On a standard telephone, the alphabetic letters are mapped tonumbers in the following fashion:

A, B, and C = 2

D, E, and F = 3

G, H, and I = 4

J, K, and L = 5

M, N, and O = 6

P, Q, R, and S = 7

T, U, and V = 8

W, X, Y, and Z = 9

Write an application that asks the user to enter a 10-character telephone number in the formatXXX-XXX-XXXX. The application should display the telephone number with any alphabeticcharacters that appeared in the original, translated to their numeric equivalent. Forexample, if the user enters 555-GET-FOOD the application should display 555-438-3663.

